
 TILLAGE
LANDSCAPE & GREEN MAINTENANCE

WEARING  
PARTS

Wearing Parts



2



3

INDEX

A success story	 4
Our products	 6 
Spare parts and technical  assistance	 7

Blades	 8
Tines	 10
Tungsten	 12
Hammers - Mulcher blades - Jolly blades 	 14

Supports	 16
Nuts & bolts	 17
Mulchers screws & bolts	 18
Screws & bolts and tools for hedge cutters	 20

Subsoi lers				   22
Toothed cult ivators	 24
Seed bed cult ivators	 26
Disc cult ivators	 30



4

In 1964, brothers Egidio and Giorgio Maschio began production in 
the barn of their home. 
That agricultural building used as an engineering workshop has 
today become a major international industrial group still managed 
by the MASCHIO family, thereby assuring continuity in Group 
affairs.

In 1994, MASCHIO took over GASPARDO, located in Morsano al 
Tagliamento (near Pordenone), renowned for its seed drills. The 
GASPARDO factory had produced seeding machinery since 1834.

In 2013 MASCHIO GASPARDO extended its range with the 
acquisition of the former UNIGREEN company based in Portogruaro 
(near Venice) which builds sprayers and crop protection machinery. 
Feraboli, an historic Cremona-based company famous worldwide 
for its haymaking machines, was acquired in 2014.In 2017, lastly, 
with the acquisition of Moro, a company based in Concordia 
Sagittaria (near Venice) specialised in the production of ploughs, 
the Maschio Gaspardo Group consolidated its full-liner strategy.

The group today has 11 factories: 8 in Italy and 3 abroad (in 
Rumania, India and China).
Maschio Gaspardo also has 12 branches and 1800 employees 
worldwide.

1964...

A SUCCESS STORY



5



6

Quality levels are achieved thanks to frequent 
controls implemented from raw materials through to 
the finished product. Internalisation of the production 
process involves various positive aspects that help 
significantly improve the finished product: constant 
control, cost cutting and immediate deliveries 
throughout the world. And, above all, the certainty 
of ensuring the quality of a machine in every single 
component. This is why the Maschio Gaspardo 
trademark is synonymous with excellence in every 
tiller and blade/tine it produces!

OUR 
PRODUCTION

In order to follow up production of all machine 
components, Maschio Gaspardo  has invested 
in a state-of-the-art factory - a production centre 
focusing on tillers and blades/tines boasting unique 
technology and standards of excellence. 
A highly advanced automation system from heating 
to forging ensures production of parts perfectly in 
line with the standards sought by the Group. 



7

The Spare Parts Department provides Dealers with 
the @WORK spare parts portal providing access 
to spare parts manuals and posting requests for 
spare parts 24 hours a day. All the more, users can 
access statistics, place orders for merchandising 
and request technical assistance.
Maschio Gaspardo's experience is always at the 
service of its clients because client satisfaction 
measures our own success.

TECHNICAL 
ASSISTANCE

Technical Assistance is covered by specialist per-
sonnel able to provide fast, qualified support and 
efficient response to the needs of farmers and con-
tractors.
The centralized warehouse and lean organization
help us respond to the numerous requests we re-
ceive very quickly indeed compared to our
competitors

SPARE  
PARTS



8

Model
BLADE B
Helicoidal

BLADES

A GREAT CLASSIC
Helicoidal blades have always set quality
standards for Maschio Gaspardo
A profile designed to increase refining by maximising 
duration and reducing clogging. Very high quality boron
steel is used having a certified composition controlled 
by in-house departments. The huge range of tools 
reflects the breath of the Maschio Gaspardo offering
with specific responses for every requirement.

Ø

A

L

C
B

A SPECIFIC ALTERNATIVE
The right tool in difficult conditions
This type of blade is available for almost all Maschio 
cutter models and is characterised by a 90° profile. 
Processing features are very similar to those of helicoidal 
blades; they are less suited to work on wet terrain and 
offer good control of weeds.

Ø

L

B
C

Ø

A

L

C
B

Model
BLADE B
Square

Model
COBRA

HELICOIDAL BLADES

SQUARE BLADES

SPECIAL BLADES
WHEN THE GOING GETS TOUGH 
In some cases, only a special application 
can ensure a task well done
Maschio Gaspardo offers a series of blades and rotors 
for specific applications on difficult terrain. When 
working very compact terrain with many clods or very 
stony, the special Cobra and Condor rotors can ensure 
a high level of finishing. The sharp profiles combined 
with the structure of the very strong rotor help absorb 
even high impacts by controlling the flow of material 
even when resides are present.  

TIME IS  MONEY
Minimising times with a few, simple operations
Quick-Fit system allows a rapid and easy assembly by 
reducing screw usage. Moreover, standard counter-
flange equipment along with tines closing system 
strengthens the rotor. An efficient solution that 
guarantees the best performance of the machine.

L

A

BØ

Model
BLADE JANE
Helicoidal

QUICK-FIT BLADES

Model
CONDOR

Model
TILLER

BORON

STEEL

PATE
NT



9

MODEL
MACHINE

MEASURE (mm) WEIGHT PACKING CODE
A - B - L - C - Ø (gr.) (pcs) (RH) (LH)

L/W 60 - 6 - 172 - 40 - 12 600 10+10 M73100404R M73100405R
W 60 - 6 - 191 - 44 - 12 630 10+10 M48000404R M48000405R

A / E / H / AS / AZ 70 - 6 - 197 - 44 - 12 720 10+10 M19100423R M19100424R
NC / PS / Z / SILVA / DIANA 80 - 7 - 186 - 56 - 14 980 10+10 M02108432R M02108433R

U / US / UZ 80 - 7 - 195 - 48 - 14 980 10+10 M29100405R M29100406R
B / BI / C / SC / PUMA 80 - 8 - 225 - 56 - 14 1300 10+10 M01110426R M01110427R
PANTERA / G* / JANE 90 - 10 - 214 - 56 - 16 1650 6+6 M09400414R M09400415R

G 90 - 10 - 265 - 68 - 16 1980 6+6 M20100412R M20100413R
K 60 - 6 - 164- 56 - 10 430 10+10 M21100412R M21100413R

H / VIRAT / VIRAT PLUS 70 - 8 - 190 - 44 - 12 980 10+10 M10700423R M10700424R
PANTERA / G* / JANE (side cleaner) 90 - 10 - 206 - 56 - 16 1340 6+6 M09400454R M09400455R

MODEL
MACHINE*

MEASURE (mm) WEIGHT PACKING CODE
A - B - L - C - Ø (gr.) (pcs) (RH) (LH)

COBRA 80 - 8 - 181 - 45 - 14 860 10+10 M26100417R M26100418R
CONDOR 50 - 25 - 190 - // - 14 850 20 M28100474R M28100474R
TILLER 50 - 15 - 265 - // - 17 1300 10+10 M74100411R M74100412R

MODEL
MACHINE

MEASURE (mm) WEIGHT PACKING CODE
A - B - L - C - Ø (gr.) (pcs) (RH) (LH)

A / E / H / AS / AZ 70 - 6 - 190 - 44 - 12 775 10+10 M19100421R M19100422R
NC / PS / Z / SILVA / DIANA 80 - 7 - 175 - 56 - 14 950 10+10 M02108430R M02108431R

U / US / UZ 80 - 7 - 196 - 48 - 14 1065 10+10 M29100407R M29100408R
B / BI / C / SC / PUMA 80 - 8 - 215 - 56 - 14 1290 10+10 M01110428R M01110429R
PANTERA / G* / JANE 90 - 10 - 213- 56 - 16 1840 6+6 M09400418R M09400419R

G 90 - 10 - 244 - 68 - 16 2020 6+6 M20100414R M20100415R
H / VIRAT / VIRAT PLUS 70 - 8 - 190 - 44 - 12 1000 10+10 M10700421R M10700422R

PANTERA / G* / JANE (side cleaner) 90 - 10 - 206 - 56 - 16 1340 6+6 M09400454R M09400455R

A= Flat- B= Thickness L= Length C= Hole Distance - Ø= Diameter

A= Flat- B= Thickness L= Length C= Hole Distance - Ø= Diameter

MODEL
MACHINE

MEASURE (mm) WEIGHT PACKING CODE
A - B - L - C - Ø (gr.) (pcs) (RH) (LH)

PANTERA / G* / JANE - Helicoidal 100 - 10 - 240- // - 18 2200 6+6 M41700436R M41700435R
PANTERA / G* / JANE - Square 100 - 10 - 240- // - 18 2200 6+6 M41700439R M41700438R

A= Flat- B= Thickness L= Length C= Hole Distance - Ø= Diameter

* Version as of January 2017

* Version as of January 2017

* All COBRA-CONDOR-TILLER models

* Version as of January 2017

A= Flat- B= Thickness L= Length C= Hole Distance - Ø= Diameter



10

Ø

L

B
C

A

Model
DM TINE

L

B
A

Model
QUICK-FIT
ON-GRIP

Model
QUICK-FIT

A STANDARD OF THE VERY HIGHEST QUALITY
Our standard tine ensures ideal processing for 
most applications
The standard tine is made of boron steel to ensure very 
high resistance to wear.
The profile allows work even on the most difficult and 
stony ground; high thickness and length ensure deep 
and long-lasting harrowing.

“QUICK-FIT” FOR FEWER PIT STOPS
A few, simple operations, no tools and the 
changeover is done
The Maschio Gaspardo Quick-Fit system is unique of 
its kind in offering a fitting system that doesn't require 
tools but is nonetheless solid, fast and practical. The 
possibility of reducing downtimes ensures maximum 
machine performance for clients. 
The special On Grip tine was developed to refine the 
seed bed on unworked terrain with high content of 

residues. Thanks to its special angle and shape, it ensures excellent soil-residue mixing. Moreover, "ripping" is 
possible and helps avoid the formation of compact strata and surface crusts.

TINES

TINES FOR POWER HARROWS

QUICK-FIT TINES FOR POWER HARROWS

PATE
NT



11

MODEL
MACHINE

DESCRIPTION
ARTICLE

MEASURE (mm) WEIGHT PACKING CODE STANDARD 
EQUIPMENT

A - B - L (gr.) (pcs) (RH) (LH)

DMR / AQUILA- R / MEGA-R 
TORO-R / ORSO-R       

Quick-Fit tine                                 
DMR thickness 15 100 - 15 - 320 3100 4+4 M36100366R M36100367R

Standard                           
Optional

JUMBO-R

DMR / AQUILA- R
MEGA-R / TORO-R

ORSO-R / JUMBO-R          
Quick-Fit tine DMR on 

grip - thickness 15 100 - 15 - 330 3100 4+4 M36100227R M36100228R optional

 DCR / GABBIANO-R
FALCO-R

Quick-Fit tine                                 
DMR thickness 12 100 - 12 - 300 2620 4+4 M36100290R M36100291R standard

 DCR / GABBIANO-R
FALCO-R

Quick-Fit tine  DCR on 
grip - thickness 12 100 - 12 - 330 2390 4+4 M26400220R M26400221R optional

TORO-R (HD)
ORSO-R (HD)

Quick-Fit tine                                  
thickness 16 100 - 16 - 320 3040 4+4 M36100252R M36100253R

Standard                           
Optional

JUMBO-R (HD)

DMR / AQUILA- R
MEGA-R / TORO-R

ORSO-R / JUMBO-R          

Quick fit tine

DMR thickness 15

extra long 360 mm

100 - 15 - 360 3400 4+4 M36100248R M36100249R standard

JUMBO-R
Quick fit tine

TG  thickness 15
 100 - 15 - 320 3045 4+4 M36100240R M36100241R standard

JUMBO-R (HD)
Quick fit tine

TG  thickness 16
 100- 16 - 320 3270 4+4 M36100242R M36100243R standard

A= Flat- B= Thickness L= Length C= Hole Distance - Ø= Diameter

A= Flat - B= Thickness L= Length

MODEL
MACHINE

DESCRIPTION
ARTICLE

MEASURE (mm) WEIGHT PACKING CODE STANDARD 
EQUIPMENT

A - B - L - C - Ø (gr.) (pcs) (RH) (LH)

DC / DS / DL / DLS 
GABBIANO / FALCO 

EROE / CORVO 
DC Tine - thickness 12 90 - 12 - 280 - 50 

- 16,5 1720 5+5 M27100210R M27100209R standard

DC / DS / DL / DLS 
GABBIANO / FALCO 

EROE / CORVO 
DC Tine - thickness 14 90 - 14 - 280 - 50 

- 16,5 2040 5+5 M38100222R M38100223R optional

DC / DS / DL / DLS 
GABBIANO / FALCO 

EROE / CORVO 
DC tine extra long                  

mm 330 thickness 12
90 - 12 - 330 - 50 

- 16,5 2010 5+5 M38100219R M38100220R optional

 DM / AQUILA /GABBIANO (HD) 
GABBIANO SUPER / FALCO (HD)

TARZAN
DM  tine - thickness 12 100 - 12 - 300 - 60 

- 16,5 1940 5+5 M36100210R M36100211R standard

 DM / AQUILA /GABBIANO (HD) 
GABBIANO SUPER / FALCO (HD)

TARZAN
DM  tine - thickness 15 100 - 15 - 300 - 60 

- 16,5 2510 4+4 M36100215R M36100216R optional

 DM / AQUILA /GABBIANO (HD) 
GABBIANO SUPER / FALCO (HD)

TARZAN
DM tine extra long                                                                                       

mm 340 thickness 12
100 - 12 - 340 - 60 

- 16,5 2180 5+5 M36100159R M36100160R optional



12

TUNGSTEN TINES AND BLADES
TUNGSTEN: A VITAL ALLY
The value of incomparable durability
Both contractors and conventional users will appreciate the advantages of tines with a wear-proof tungsten finish. 
A special treatment process makes it possible to apply an extremely resistant coating capable of significantly 
extending the tool's working life. Professional users will be able to reduce the frequency of replacing tines even 
when working very stony soil.

A= Flat- B= Thickness L= Length C= Hole Distance - Ø= Diameter

MODEL
MACHINE

MEASURE (mm) WEIGHT PACKING CODE
A - B - L - C - Ø (gr.) (pcs) (RH) (LH)

G - Helicoidal 90 - 10 - 265 - 68 - 16 2200 6+6 M72100406R M72100407R
PANTERA / G* / JANE - Helicoidal 90 - 10 - 214 - 56 - 16 1700 6+6 M09400423R M09400424R

PANTERA / G* / JANE - Square 90 - 10 - 213- 56 - 16 1890 6+6 M09400425R M09400426R

BI / B / C /SC / PUMA  80 - 8 - 215 - 56 - 14 1700 10+10 M66100425R M66100426R
DC / DS / DL / DLS / GABBIANO / FALCO 

EROE / CORVO  90 - 12 - 280 - 50 - 16,5 1900 5+5 M38100226R M38100227R

 DM / AQUILA /GABBIANO (HD) / GABBIANO 
SUPER / FALCO (HD) /TARZAN 100 - 12 - 300 - 60 - 16,5 2100 5+5 M36100223R M36100224R

 DM / AQUILA /GABBIANO (HD) / GABBIANO 
SUPER / FALCO (HD) /TARZAN 100 - 15 - 306 - 60 - 16,5 2600 4+4 M36100255R M36100256R

DMR / AQUILA-R / MEGA-R / TORO-R / ORSO-R 
JUMBO-R  100 - 15 - 320 - // - // 3045 4+4 M36100240R M36100241R

TORO-R (HD) / ORSO-R (HD) / JUMBO-R (HD)  100- 16 - 320 - // - // 3270 4+4 M36100242R M36100243R
 PINOCCHIO / ATTILA / ARTIGLIO  80 - 10 - 215 - 56 - 14 1670 6+6 R17820860R R17820870R

Model
TINE 
Quick-Fit Tungsten

Model
DM  TINE
Tungsten

Model
BLADE Helicoidal
Tungsten

Ø

L

B
C

A

L

B
A

Ø

A

L

C
B

Model
BLADE Square 
Tungsten

Ø

A

L

C
B

TUNGSTEN

* Version as of January 2017



13



14

STANDARD HAMMERS 

HAMMERS - MULCHER BLADES - JOLLY BLADES 

Model
HAMMER 14

THE RIGHT HAMMER FOR GREEN WORK
A precise and balanced cut
Maschio Gaspardo boasts a range of high quality 
hammers ensuring excellent processing of grass 
and residues.
Fitted with self-sharpening cutters in high-quality 
steel, our hammers ensure a perfect result even in 
meadows where uniform cutting is a fundamental 
requisite.

A CUT ABOVE THE REST!
Maschio blades: the trump card!
Maschio Gaspardo offers a fine range of blades
ensuring high quality for all shredder models : in 
wear-resistant steel with sharp cutters designed 
specifically for optimal mulching of grass and 
residues.

R

A

L

Ø

R

A

Ø

B

Type 3 
blade

Type 7 
blade

Type 5 
blade

Model
BLADE 
Y-shaped, 
short

L

B

Ø

A

THE SHARPEST TOOL FOR MOWERS!
Cutting quality: a fundamental objective
An original Maschio Gaspardo blade is immediately 
identifiable: self-sharpening, precise, perfect for 
all grassy areas. And the results can be even 

better thanks to the chance to install optional 
mulching kits to increase shredding. Ant-

wear steel also ensures long-life and 
impressive resistance even in the 

most heavy-duty applications. 

Model 
BLADE
JOLLY 150

Model 
BLADE
JOLLY 120

Model 
BLADE
JOLLY 180

MULCHER BLADES

JOLLY MOWER BLADES



15

MODEL
MACHINE

DESCRIPTION
ARTICLE

MEASURE (mm) WEIGHT PACKING CODE
L - A - R - Ø (gr.) (pcs)

BISONTE / GIRAFFA                                                    
CR / CORAZZA / TIGRE                                      
GIRAFFONA / BUFALO

Hammer 14 60 - 150 - 90 - 20,5 1260 10 M03400410R

BC / BE / BL / VITA                                               
BELLA / BRAVA Hammer 08 40 - 130 - 110 - 16,2 1060 15 T24004025R

CL / ML / GRIFONE
MS /ARIETE                                                  

CHIARA / TORNADO                                  
GEMELLA / LEOPARD

Hammer 16 46 - 125 - 177 - 25,5 1550 10 T30004027R

BARBI / GIRAFFETTA Hammer 20 40 - 85 - 100 - 16,5 725 20 M07400950R
BC / BE / BL / VITA Hammer M51 L=140 40 - 140 - 95 - 16,5 1620 15 T21004030R

BIRBA / FURBA / GIRAFFINA Hammer 21 13 - 78 - 75 - 14,2 250 20 M48400405R
BA Pallet 72 - 70 - 13,5 140 20 T18004085R

TANIA Tania Hammer 40 - 120- 110 - 18,5 1260 10 EGR618110R

MODEL
MACHINE

DESCRIPTION
ARTICLE

MEASURE (mm) WEIGHT PACKING CODE
A - B - R - Ø (gr.) (pcs)

CL / ML / MS / LEOPARD / TORNADO /ARIETE
CHIARA / GRIFONE / GEMELLA Y 210 - Type 3 blade 60 - 8 - 180 - 25,4 810 15 T40005142R

CL / ML / MS / LEOPARD / TORNADO /ARIETE
CHIARA / GRIFONE / GEMELLA Straight blade 210 - Type 5  60 - 8 - 180 - 25,4 720 25 T40005141R

CL / ML / MS / LEOPARD / GRIFONE / CHIARA 90° Blade L=210 - Type 7 80 – 8 - 180 - 25,4 940 15 T40004068R
BIRBA / FURBA / GIRAFFINA  Blade 19  52.5 - 6 - 71 - 14,5 170 30 M48400406R

BC / BE / BL / BELLA / BRAVA / VITA  Straight Blade 130 60 - 8 - 110 - 16,5 340 40 T21004050R
BC / BE / BL Low Blade at 90° 60 - 8 - 110 - 16,5 430 30 T21004042R

BARBI / GIRAFFETTA Y 18 Blade 60 - 8 - 99 - 16,5 300 30 M07400954R
BISONTE / GIRAFFA / CR / CORAZZA / GIRAFFONA 

TIGRE / BUFALO Y 15 Blade 60 - 10 - 90 - 20,5 470 30 M03400406R

BC / BE / BL / BELLA / BRAVA / VITA Y Blade L=130 60 - 8 - 110 - 16,5 400 30 T21004040R
CL / ML / TS /GEMELLA / ARIETE / LEOPARD Intermediate Blade 30 - 8 - 170 - 25,4 500 15 T40005143R

BA BA Blade 40 - 5 - 65 - 13 122 50 T18004060R
GEMELLA L Blade L=85 60 - 8 - 180 - 25,4  980 10 M02400401R

LEOPARD * Ventilated Blade 30 - 6 - 110 - 25,4 370 5 M14400418R

MODEL
MACHINE

DESCRIPTION
ARTICLE

MEASURE (mm) WEIGHT PACKING CODE
A - B - L - Ø (gr.) (pcs)

JOLLY 120 L Blade = 422 50 - 6 - 420 - 19 910 3 T14004030R

JOLLY 150  L Blade = 510  50 - 6  - 512,5 - 19 1120 3 T14004010R

JOLLY 180  L Blade = 610  60 - 6 - 613 - 19 1550 3 T14004020R

JOLLY 210 Blade 60 - 8 - 200 - 26,5 710 6 T15005065R

* Version prior to September 2011

L= Width A= Flat - R= Radius - Ø= Diameter

A= Flat - B= Thickness R= Radius - Ø= Diameter

A= Flat - B= Thickness L= Length - Ø= Diameter



16

Support
Roller H 42

Support
Roller H 60

WE SUPPORT YOUR WORK
First in, last out
The importance of having efficient scrapers 
and supports is evident in everyday work:
being able to keep rollers and discs in the 
best condition even for work on the most 
difficult terrain means being able to carry on 
working when others come to a halt. 
Maschio Gaspardo machines are often 
the very last to leave the field when the 
situation becomes difficult and this is thanks 
to maximum efficiency of every single 
component.

DESCRIPTION OF ARTICLE
WEIGHT PACKING CODE

(gr.) (pcs)
OSCILLATING BEARING SUPPORT H42 2250 2 M43400467R

OSCILLATING BEARING SUPPORT H60 6030 2 M43400468R

COMPLETE SIDE & CENTRAL SUPPORT 2170 2 M38100907R

BEARING SUPPORT FY35TF 1390 1 F04100073R

COMPLETE SUPPORT UCF308-40MM-AP-MF 3390 2 F04060010R

COMPLETE SUPPORT UCF 312 G2 6290 1 F04060008R

DESCRIPTION OF ARTICLE
WEIGHT PACKING CODE

(gr.) (pcs)
PACKER SCRAPER PLATE 250 10 M27100539R

TUNGSTEN PACKER SCRAPER PLATE 310 10 M23400958R

RUBBERISED TUNGSTEN SCRAPER PLATE 290 10 M23400956R

FLANGED TUNGSTEN SCRAPER PLATE 510 2 M43400711R

SCRAPER PLATE 210 10 M36100933R

SUPPORTS

ROLLERS, PLATES AND SCRAPERS

Model
PACKER

Model
PACKER
Tungsten

Model
RUBBERISED
Tungsten

Model
FLANGED
Tungsten

ROLLER SUPPORTS

SCRAPER SUPPORTS 



17

A CHOICE OF QUALITY 
Maschio Gaspardo can offer you 

everything you need
No detail is overlooked when Maschio 
Gaspardo takes the field. As regards 
screws, nuts and bolts, components are 
chosen carefully to lock fastenings in the 
best possible way and even withstand the 
strongest and most prolonged vibrations 
on the smallest final tread; optimal machine 
functionality is thereby assured even in the 

most demanding circumstances.

MODEL MACHINE DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

NC / PS / Z / B / BI / C / SC / U / US / UZ / PUMA SCREW M14X1,5X40 + D. + R. 10.9 110 100 M00567201R

C COBRA / SC COBRA / G COBRA / PUMA COBRA SCREW M14X1,5X40 + D. + R. 12.9 110 100 M00567211R

A / E / H / KS / W / KS SCREW M12X1,25X35 + D.+ R. 10.9 70 100 M00567202R

K SCREW M10X1,25X30 + D.+ R. 10.9 40 100 M00567203R

G SCREW M16X1,5X60 + D.+ R. 10.9 170 100 M00567204R

NC / PS / Z / B / BI / C / SC / U / US / UZ / PUMA SCREW M14X1,5X55 + D.+ R. 10.9 120 50 M00567206R*

PANTERA / G ** / JANE SCREW M16X1,5X50 + D. + R.12.9 PANT. 160 100 M00567212R

VIRAT / VIRAT PLUS SCREW 12X1,25X40+D+R10.9VIR+VIRP 70 100 M00567215R      

DC / DS / DL/ GABBIANO / FALCO /CORVO SCREW FASTENER DC-DL-DS BLADES 160 50 M38100218R

DM / DC / DL/ DS/ AQUILA / FALCO /CORVO
GABBIANO / TARZAN SCREW FASTENER DM BLADES 180 50 M36100312R

DM / AQUILA / FALCO / GABBIANO / TARZAN SCREW M16X1,5X50 12.9 ZF 110 100 F20110044R

DC / DS / DL / DM / GABBIANO / AQUILA / CORVO SCREW GUARD DC-DM BLADES 440 50 M38100215R***

DC / DS / DL / DM / GABBIANO / AQUILA / CORVO SCREW M16X1,5X55 SPEC 12.9 ZF 120 100 F20110045R***

FO
R

 R
O

T
A

R
Y

 T
IL

LE
R

S
FO

R
 H

A
R

R
O

W
S

(in
cl

. H
D

 m
o

d
el

s)

Model
Guards

screw and blades

Model
Screw fastener 

DM Blades

Model
Screw fastener 
MG ZD Blades

SCREWS & BOLTS

END FASTENING

SCREWS & BOLTS

* M00567206R  screw counter-flange 	 ** Version as of January 2017
*** M38100215R + F20110045R with side support code M36100302R



18

FIG. MODEL MACHINE DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

01 BELLA / VITA / BRAVA - Hammer 08
BOLT M16X1,5X95 SPEC. BR.10.9 180 25 F20110093R

NUT M16X1,5 D982 6 ZN 40 10 F01230084R

01 BC / BE  
Hammer 08

BOLT M16X1,5X95 SPEC. BR.10.9 180 25 F20110093R
NUT M16X1,5 D982 6 ZN 40 10 F01230084R

WASHER M16 17X30X3 U6592 ZN 10 25 F01410100R

02 BC / BE  
Hammer 09

BOLT M16X1,5X95 SPEC. BR.10.9 180 25 F20110093R
NUT M16X1,5 D982 6 ZN 40 10 F01230084R

WASHER M16 17X30X3 U6592 ZN 10 25 F01410100R

03 BISONTE / GIRAFFA / GIRAFFONA / CORAZZA
CR / TIGRE / BUFALO - Hammer 14

BOLT M20X1,5X116 SPEC. BR.8.8 350 25 F20110092R
NUT M20X1,5 U7474 8S ZN 60 25 F01230258R

04
CL / ML / MS / GRIFONE / CHIARA 

TORNADO / ARIETE / LEOPARD /  GEMELLA                                           
Hammer 16

ZN BLADE PIN 390 5 T40005131R
NUT M20X1,5 U7474 8S ZN 60 25 F01230258R

04 LEOPARD */ GEMELLA 
Hammer 16

HAMMER SPACER - LEOPARD 150 10 M14400419R
ZN BLADE PIN 500 10 M14400417R

NUT M20X1,5 U7474 8S ZN 60 25 F01230258R

05 BARBI / GIRAFFETTA - Hammer 20 BOLT M16X1,5X85 SPEC. BR.8.8 140 25 F20110091R
NUT M16X1,5 D982 6 ZN 40 10 F01230084R

06 BARBI / FURBA / GIRAFFINA - Hammer 21 BOLT M14X1,5X50 U5738 8.8 ZN 80 5 F01010082R
NUT M14X1,5 D982 6.6 ZN 20 10 F01230072R

07 TANIA - Tania Hammer BOLT M18X1,5X100 U5738 8.8ZN 240 1 F01010159R
NUT M18X1,5 D982 8ZN 50 5 F01230096R

08 BA                                                                        
Blade Kit 01

BLADE HOLDER RING 40 10 T18004065R
BOLT M8X1,25X55 U5737 10.9 BR 20 25 F01020076R

NUT M8X1,25 D982 8 6 25 F01230034R
WASHER M8 8,4X17X1,6 U6592 ZN 2 25 F01410051R

09 CL / ML / GRIFONE / MS / LEOPARD                                     
Blade Kit 02

ZN BLADE SPACER 150 10 T40005133R
ZN BLADE PIN 390 5 T40005131R

NUT M20X 1,5 U7474 8S ZN 60 25 F01230258R

10 CL / ML / GRIFONE / MS / LEOPARD                                     
Blade Kit 03

ZN BLADE PIN 390 5 T40005131R
NUT M20X1,5 U7474 8S ZN 60 25 F01230258R

11 BC / BE                                                                            
Blade Kit 04

ZN BLADE SPACER 90 10 T21004046R
BOLT M16X1,5X95 SPEC. BR.10.9 180 25 F20110093R

NUT M16X1,5 D982 6 ZN 40 10 F01230084R
WASHER M16 17X30X3 U6592 ZN 10 25 F01410100R

12
CL / ML / MS / GRIFONE / CHIARA 

TORNADO / ARIETE / LEOPARD /  GEMELLA                                           
Blade Kit 05

STRAIGHT BLADE SPACER 10 100 T40005140R
ZN BLADE PIN 380 5 T40005131R

NUT M20X1,5 U7474 8S ZN 60 25 F01230258R

13 BC / BE                                                                            
Blade Kit 06

ZN BLADE SPACER 90 10 T21004046R
BOLT M16X1,5X95 SPEC. BR.10.9 180 25 F20110093R

NUT M16X1,5 D982 6 ZN 40 10 F01230084R
WASHER M16 17X30X3 U6592 ZN 10 25 F01410100R

14 CHIARA                                                                           
Blade Kit 07

ZN BLADE SPACER 150 10 T40005133R
ZN BLADE PIN 390 5 T40005131R

NUT M20X1,5 U7474 8S ZN 60 25 F01230258R

14 CL / ML  / GRIFONE / MS                                                                
Blade Kit 07

ZN BLADE SPACER 150 10 T40005133R
ZN BLADE PIN 390 5 T40005131R

NUT M20X1,5 U7474 8S ZN 60 25 F01230258R

15 BC / BE / VITA                                                                          
Blade Kit 10

ZN BLADE SPACER 50 10 T21004045R
BOLT M16X1,5X95 SPEC. BR.10.9 180 25 F20110093R

NUT M16X1,5 D982 - 6 - ZN 40 10 F01230084R
WASHER M16 17X30X3 U6592 ZN 10 25 F01410100R

MULCHERS SCREWS & BOLTS

MULCHERS SCREWS & BOLTS

* Version prior to September 2011



19

FIG. MODEL MACHINE DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

15 BRAVA / BELLA / VITA                                                                      
Blade Kit 10

BOLT M16X1,5X95 SPEC. BR.10.9 180 25 F20110093R
NUT M16X1,5 D982  6 ZN 40 10 F01230084R

WASHER M16 17X30X3 U6592 ZN 10 25 F01410100R

16 BC / BE                                                                            
Blade Kit 12

ZN BLADE SPACER 90 10 T21004046R
BOLT M16X1,5X95 SPEC. BR.10.9 178 25 F20110093R

NUT M16X1,5 D982 6 ZN 40 10 F01230084R
WASHER M16 17X30X3 U6592 ZN 10 25 F01410100R

17
BISONTE / GIRAFFA / GIRAFFONA / CORAZZA

CR / TIGRE / BUFALO
Blade Kit 15

SPACER D=30 D=20 L=28 ZN 180 5 M03400407R
BOLT M20X1,5X116 SPEC.  BR.8.8 350 25 F20110092R

NUT M20X1,5 U7474 8S ZN 60 25 F01230258R

18 BARBI / GIRAFFETTA                                                           
Blade Kit 18

ZN BLADE SPACER 90 10 T21004046R
BOLT M16X1,5X90 U5738 8.8 ZN 140 25 F20110091R

NUT M16X1,5 D982 6 ZN 40 10 F01230084R

19 BIRBA / FURBA / GIRAFFINA
Blade Kit 19

BOLT M14X1,5X50 U5738 8.8 ZN 80 5 F01010082R
NUT M14X1,5 D982 6.6 ZN 20 10 F01230072R

20 LEOPARD*                                                              
Ventilated Blade Kit 

HAMMER SPACER - LEOPARD 150 10 M14400419R
ZN BLADE PIN 500 10 M14400417R

NUT M20X1,5 U7474 8S ZN 60 25 F01230258R

21 BA                                                                         
Pallet

BLADE HOLDER RING 40 10 T18004065R
BOLT M8X1,25X55 U5737 10.9 BR 20 25 F01020076R

NUT M8X1,25 D982 8 6 25 F01230034R
WASHER M8 8,4X17X1,6 U6592 ZN 2 25 F01410051R

* Version prior to September 2011

Fig. 01
Hammer 8

Fig. 08
Blade Kit 01

Fig. 15
Blade Kit 10

Fig. 02
Hammer 9

Fig. 09
Blade Kit 02

Fig. 16
Blade Kit 12

Fig. 03
Hammer 14

Fig. 10
Blade Kit 03

Fig. 17
Blade Kit 15

Fig. 04
Hammer 16

Fig. 11
Blade Kit 04

Fig. 18
Blade Kit 18

Fig. 05
Hammer 20

Fig. 12
Blade Kit 05

Fig. 19
Blade Kit 20

Fig. 06
Hammer 21

Fig. 13
Blade Kit 06

Fig. 20
Ventilated Blade Kit 

Fig. 07
Tania Hammer

Fig. 14
Blade Kit 07

Fig. 21
Pallet 11



20

STEEL
- HIGH STRENGTH 

RESISTANCE CLASSES 10.9 / 12.9 
Hardened and tempered medium carbon alloy steel.

SCREWS & BOLTS AND TOOLS FOR HEDGE CUTTERS

Model
BOLT & NUT

Model
U-BOLT Model

BUSHING

Model
SPACERS



21

MODEL MACHINE DESCRIPTION
ARTICLE

MEASURE (mm) WEIGHT PACKING CODE HANDBOOK 
CODE 
SPARE 
PARTS

A - B - R - D (gr.) (pcs)

CRISTINA 510 / CRISTINA / MARTINA
PALMA / KATIA / GAIA PRESSED STEEL HAMMER 40 - 85 - 100 - 16,5 750 20 M07400950R 08-21-83

CRISTINA 510 / CRISTINA / MARTINA
PALMA / KATIA / GAIA TYPE 2 BLADE 58-8-130-16 326 10 EGL00387R 08-21-10

CRISTINA / EMMA TYPE 3 BLADE 54-8-82-14 196 10 EGL00416R 08-21-51

CRISTINA 510 / CRISTINA / MARTINA
PALMA / KATIA / GAIA TYPE 5 BLADE 55-8-100-17 242 10 EGL00001R 08-21-93

PALMA / CAMILLA / KATIA
LARA / KATIA 650 TYPE 6 PALLET 40-12-100-17 150 10 EGL00432R 08-21-81

KATIA / LARA
CAMILLA / KATIA 650 TYPE 7 BLADE, BENT 76-8-145-26 460 10 EGL00388R* 08-21-11

KATIA / LARA / KATIA 650 TYPE 8 BLADE, STRAIGHT 76-8-145-26 472 10 EGL00433R* 08-21-82

PALMA / CAMILLA / KATIA / LARA TYPE 22 HAMMER 60-150-26 914 10 EGL01155R 08-28-55

PALMA / CAMILLA / KATIA / LARA TYPE 20 HAMMER 60-145-26 964 10 EGL01154R 08-28-27

ROSA TYPE 13 BLADE 57-8-130-16 350 10 EGL00437R 08-21-86

EMMA / ROSA / MARGHERITA TYPE 15 BLADE 42-6-80-14 206 10 EGL00389R 08-21-13

A= Width - B= Thickness R= Length D= Hole Diameter *BLADE KIT : EGL00388R for 2 PCS+ EGL00433R for 1 PC

FIG. MODEL MACHINE DESCRIPTION
ARTICLE

WEIGHT PACKING CODE HANDBOOK 
CODE 

SPARE PARTS(gr.) (pcs)

22 PALMA / KATIA / MARTINA / CAMILLA /GAIA / LARA 
Hammer 20 TYPE  1 – 2 BOLT & NUT 200 10 EGL00476R 08-23-37

23 PALMA / KATIA / MARTINA / CAMILLA /GAIA                   
Blade Kit 02

TYPE 2 SPACER 60 10 EGL00506R 08-23-86
TYPE  1 – 2 BOLT & NUT 200 10 EGL00476R 08-23-37

24 CRISTINA / EMMA
Blade Kit 03

TYPE 3 BUSHING 40 10 EGL00413R 08-21-48
TYPE  3 - 13 BOLT & NUT 80 10 EGL00141R 08-01-63

TYPE 3 U-BOLT 130 10 EGL00415R 08-21-50

25 PALMA / KATIA / MARTINA / LARA / CAMILLA / GAIA 
Blade Kit 05

TYPE 5 - 6 BUSHING 50 10 EGL00429R 08-21-76
TYPE  5 - 6 - 20 - 22 BOLT & NUT 150 10 EGL00003R 08-23-39

TYPE 5 U-BOLT 190 10 EGL00002R 08-21-77

26 PALMA / KATIA / MARTINA / LARA / CAMILLA / GAIA 
Blade Kit 06

TYPE 5 - 6 BUSHING 50 10 EGL00429R 08-21-76
TYPE  5 - 6 - 20 - 22 BOLT & NUT 150 10 EGL00003R 08-23-39

TYPE 6 U-BOLT 230 10 EGL00431R 08-21-80
27 PALMA / KATIA / LARA / CAMILLA - Blade Kit 07 TYPE  7 BOLT & NUT 470 10 EGL00443R 08-21-96

28 KATIA / CAMILLA
Blade Kit 08

TYPE 7 - 8 SPACER 30 10 EGL00159R 08-03-39
TYPE  8 BOLT & NUT 570 10 EGL00576R 08-24-92

29 MARGHERITA
Blade Kit 15

TYPE 3 BUSHING 40 10 EGL00413R 08-21-48
TYPE  3 - 13 BOLT & NUT 80 10 EGL00141R 08-01-63

TYPE 3 U-BOLT 120 10 EGL00415R 08-21-50

30 PALMA - KATIA - LARA - CAMILLA
Hammer Kit 22

TYPE  5 - 6 - 20 - 22 BOLT & NUT 150 10 EGL00003R 08-23-39
TYPE 20 - 22 BUSHING 130 10 EGL01166R 09-14-51
TYPE 20 - 22 SPACER 30 10 EGL01167R 09-14-52

HEDGE CUTTERS HAMMERS AND BLADES 

HEDGE CUTTERS SCREWS & BOLTS

Fig. 22
Hammer 20

Fig. 23
Blade Kit 02

Fig. 24
Blade Kit 03

Fig. 25
Blade Kit 05

Fig. 30 
Hammer Kit 22                                                                                                       

Fig. 26
Blade Kit 06

Fig. 27
Blade Kit 07

Fig. 28
Blade Kit 08

Fig. 29
Blade Kit 15



22

SUBSOILERS

ARTIGLIO - DIABLO

ELEMENT
SUBSOILER
ARTIGLIO - DIABLO 2008-2012

ELEMENT
SUBSOILER
ARTIGLIO - DIABLO 2013-2017

5B

5A

6

9 4B

3

4A

7

2

1B

1A

5B

5A

6

12
4A

10C

4B

7

13

10B

10A

11

12
11

5B

5A

6

9

2

8

4A

3

4B

7

1A

1B

8

3

5B

5A

6

12 4A

10C

4B

7

13

10B

10A

11

12
11

ATTILA - PINOCCHIO

ELEMENT
SUBSOILER
ATTILA - PINOCCHIO  2008-2012

ELEMENT
SUBSOILER
ATTILA PINOCCHIO 2013-2017



23

OUR PROJECTS FOR YOUR GOALS! 
Our “Minimum Tillage” range is hugely successful approach
Maschio Gaspardo's “Minimum Tillage” range is the result of research into maximum effectiveness in working 
the land and reducing machinery management costs.
Today as never before, using passive machines is synonymous with economic operations and appropriate 
tillage in preparing seed beds.
A modern and intelligent approach to the challenges facing today's agriculture.

POS. DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

1A TOOTH ATTILA - PINOCCHIO 5600 1 R17820681R

1B TOOTH ATTILA - PINOCCHIO TUNGSTEN 5990 1 R17820731R

2 BOLT M12X1,75X70 U5737 8.8ZN 70 25 F01020164R

3 NUT M12X1,75 D982 8ZN 20 25 F01230059R

4A RH HELICOIDAL BLADE 1570 6 M74100435R

5A LH HELICOIDAL BLADE 1590 6 M74100436R

4B RH TUNGSTEN HELICOIDAL BLADE 1670 6 R17820860R

5B LH TUNGSTEN HELICOIDAL BLADE 1670 6 R17820870R

6 BOLT M14X2X70 U5737 8.8ZN  100 10 F01020207R

7 NUT M14X2 D982 8ZN 30 10 F01230073R

8 CLOD BREAKER BLADE ATT/PIN 2160 1 R17820412R

9 PIN E.P. 13X50 U28752 C70 BR 30 1 F02100190R

10A TOOTH ATTILA - PINOCCHIO 5800 1 R17623000R

10B TOOTH ATTILA - PINOCCHIO TUNGSTEN 5800 1 R17622980R

10C TOOTH ATTILA - PINOCCHIO WIDIA 6600 1 R17623310R

11 NUT M24X3 D982 8ZN     120 5 F01230144R

12 PIN E.P. 13X50 U28752 C70 BR 30 1 F02100190R

13 CLOD BREAKER BLADE ATT/PIN 2180 1 R17820413R

POS. DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

1A TOOTH ARTIGLIO - DIABLO 5700 1 R17820661R

1B TOOTH ARTIGLIO - DIABLO TUNGSTEN 5770 1 R17820721R

2 BOLT M12X1,75X70  U5737 8.8ZN 70 25 F01020164R

3 NUT M12X1,75 D982 8ZN 20 25 F01230059R

4A RH HELICOIDAL BLADE 1570 6 M74100435R

5A LH HELICOIDAL BLADE 1590 6 M74100436R

4B RH TUNGSTEN HELICOIDAL BLADE 1670 6 R17820860R

5B LH TUNGSTEN HELICOIDAL BLADE 1670 6 R17820870R

6 BOLT M14X2X80 U5737 8.8ZN  110 10 F01020210R

7 NUT M14X2 D982 8ZN 30 10 F01230073R

8 CLOD BREAKER ART./ DIABLO 4330 1 R17820062R

9 PIN E.P.13X 55 U28752 C70 BR 35 1 F02100193R

10A TOOTH ARTIGLIO - DIABLO 5900 1 R17622990R

10B TOOTH ARTIGLIO - DIABLO TUNGSTEN 5900 1 R17622960R

10C T1OOTH ARTIGLIO - DIABLO WIDIA 6600 1 R17623300R

11 NUT M24X3 D982 8ZN     120 5 F01230144R

12 PIN E.P.13X 55 U28752 C70 BR 35 1 F02100193R

13 CLOD BREAKER BLADE ART./DIABLO 4380 1 R17820063R



24

TOOTHED CULTIVATORS

TERREMOTO 3

TERREMOTO - GRUBBER
CULTIVATOR ELEMENT
RH SIDE

CULTIVATOR ELEMENT
LH SIDE

5

14

2

8

6

1

9

9

12

11
7

8

3

10

13

4

DRACULA

3

5

8

1A

1B

46

1C

2

10

11B

11A

9

7

ELEMENT
CULTIVATOR TERREMOTO 3

ELEMENT
DRACULA CULTIVATOR

6

4

9

8

2

3

5A

5B

2

3

1

7

CULTIVATOR ELEMENT
CENTRAL



25

OUR CULTIVATORS FOR A PERFECT SURFACE!
A powerful choice!
Designed to incorporate crop residues into the surface stratum, our systems break up and aerate the land 
over their entire working width thanks to stubble cultivators with special ripper tines. This feature ensures high 
performance in combatting weeds thanks to total destruction of their roots. Work depth is kept constant by the 
rear roller which also compacts and levels the ground.

POS. DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

1A TOOTH TOPMIX 80MM 1760 1 R18025780R
1B TOOTH 80MM TUNGSTEN 1960 1 R18028330R
1C TOOTH WIDIA  W80T20 HFD 4040 1 F20120094R
2 TOOTH REINFORCEMENT PLATE 1050 1 R18026000R
3 ASSEMBLY WINGS TOPMIX 310MM 4380 1 R18025740R
4 BOLT M12X1,75X65 U5737 10.9ZN 70 10 F01020192R
5 NUT M12 D6331 8.8ZG 30 10 F01260060R
6 BOLT M12X1,75X90 SPEC  10.9ZN 80 1 F01060129R
7 DEFLECTOR LH TOPMIX 80MM 1940 1 R18025760R
8 DEFLECTOR RH TOPMIX 80MM 1940 1 R18025770R
9 TINE TOPMIX 735X25MM 8780 1 R18025730R
10 BUSHING C D=20 D=14 L25 30 1 F04150202R

11A BOLT M14X2X70 U5737 8.8ZN  100 10 F01020207R
11B BOLT M14X2X80 U5737 8.8ZN  110 10 F01020210R

POS. DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

1 NUT M12X1,75 D980 8 ZN 20 25 F01220048R
2 CULTIVATOR TINE BER. 10500 1 F20120059R
3 TINE SUPPORT BER 1860 1 F20120060R
4 TOOTH TINE BER. 1730 5 F20120061R
5 CENTRAL WING RH BER. 2520 5 F20120057R
6 RH WING BER. 2420 5 F20120054R
7 LH WING BER. 2420 5 F20120055R
8 BOLT M12X1,75X50 U5732 12.9 BR 60 50 F01060097R
9 WASHER M12 13X 24X2,5 U6592 ZN 10 25 F01410076R
10 BOLT M12X1,75X80 U6104 12.9 BR 80 50 F01060128R
11 BOLT M12X1,75X 55 U6104 12.9 BR 50 50 F01060108R
12 BOLT M12X1,75X70 U6104 12.9 BR 70 1 F01060127R
13 CENTRAL WING BER. 1770 1 F20120056R
14 CENTRAL LH WING BER. 2520 1 F20120058R

POS. DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

1 TOOTH WIDIA  W80T20 HFD 4040 1 F20120094R
2 NUT M12 D6331 8.8ZG 30 10 F01260060R
3 WASHER T 12,2X28X1,50 FLZNNC-240 2 10 F01470022R
4 BOLT M12X1,75X 100SPEC  12.9ZN 100 1 F01060141R

5A DEFLECTOR LH TOPMIX 80MM 1940 1 R18025760R
5B DEFLECTOR RH TOPMIX 80MM 1940 1 R18025770R
6 ASSEMBLY WINGS TOPMIX 310MM 4380 1 R18025740R
7 TINE TOPMIX 735X25MM 8780 1 R18025730R
8 BOLT M14X2X70 U5737 8.8ZN  100 10 F01020207R
9 BUSHING C D=20 D=14 L25 30 1 F04150202R



26

Track eradicator 
with tines 
reversible

Tine
Model. GAMMA

Tine
Model DELTA

Tine
Model. GAMMA
with spring guard

SEED BED CULTIVATORS

GRATOR
DELTA VERSION GAMMA VERSION 

GRANCHIO

4

5

1

3

2

4

5

8

6

7

3

2

1
9

10

8

8

7

6 5

4

ELEMENT
GRATOR SEED BED CULTIVATOR

ELEMENT
GRANCHIO SEED BED CULTIVATOR



27

PASSIVE: A CHOICE FOR GUARANTEED SAVINGS!
Maschio Gaspardo seed bed cultivators: a rewarding and functional choice
Whenever tillage scheduling so allows, the use of passive equipment instead of active systems is an effective 
choice that ensures cost savings. Preparing a perfectly level and aligned seed bed with our machines is 
impressively easy and successful on ploughed and/or loose soil (for example by the action of ice); it stimulates 
rapid germination by not overturning the strata.

POS. DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

1 SPRING FLEX 32X12 3180 10 F20120331R
2 BLADE 150 HL 460 25 G13640360R
3 BOLT M10X1,5X40 U5732 4.6 BR 30 25 F01060076R
4 WASHER M10 10,5X 20X 2 U6592 ZN 2 25 F01410064R
5 NUT M10X 1,5 U5588 6.8 ZN 10 25 F01200270R
6 STRAIGHT TINE 40X6X210 380 10 F20120011R
7 OVAL-HEAD BOLT M10X35 30 10 G67002011R
8 SPRING FLEX JA 32X12 SV 2510 1 F20120345R

POS. DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

1 TRACK ERADICATOR SPRING 30X30 4790 1 F20120340R
2 REVERSIBLE PLOUGHSHARE 40X16 1185 5 F20120014R
3 BOLT M12X60 70 10 F20120041R
4 OVAL-HEAD BOLT M10X35 30 10 G67002011R
5 STRAIGHT TINE 40X6X210 380 10 F20120011R
6 SPRING FLEX JA 32X12 SV 2510 1 F20120345R
7 TINE WITH HOOK 1700 1 R17016650R
8 NUT M10X 1,5 D980 8ZN 10 25 F01220033R
9 TINE WITH TWO HOLES 2280 1 R17016670R
10 WASHER M10 10,5X 20X 2 U6592 ZN 2 25 F01410064R
11 PLOUGHSHARES 790 5 F20120027R
12 BOLT M10X1,5X50 U5933 10.9 ZD 40 10 F01030095R



28

SANDOKAN

7

6

6

5

3

1

4B

4A

2

7

ELEMENT
SANDOKAN CULTIVATOR



29

POS. DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

1 DELTA TOOTH 245 X 8 1500 1 F20120082R
2 NUT FLANG.M12 DIN6331 8.8 30 10 F01260060R
3 BOLT M12X1,75X55 SPEC 12.9BR 50 50 F01060108R

4A SPRING 25X25 H455 RH 8200 1 F20120366R
4B SPRING 25X25 H455 SX 8200 1 F20120367R
5 NUT M12X1,25 D980 16 25 F01220047R
6 TINE SUPPORT PLATE 480 1 M76500246R
7 BOLT M12X1,25X140 U5738 8.8ZN 130 1 F01020635R



30

DISC CULTIVATORS

UFO - PRESTO - VELOCE

7

4

6

5

2

3

1

ELEMENT
Disc cultivators



31

THE SOIL BEAUTY-FARM!
Maschio Gaspardo disc cultivators: an assurance of precision and uniformity
Disc cultivators are designed for working the surface of the soil and residues. The discs they cut and
mix the soil and residues to ensure precise and uniform tillage.
The arrangement in two rows ensures constant tilling across the entire width of the machine. Use on
hard ground generally seeks to incorporate residues to achieve rapid decomposition: if, on the other
hand. the disc system is combined with a seed drill, use on tilled ground takes place before seeding
or as seeding itself occurs.

POS. MODEL
MACHINE

DESCRIPTION
ARTICLE

WEIGHT PACKING CODE
(gr.) (pcs)

1
UFO 

 DISC D.610 10440 1 R18120080R
2 BOLT M14X2X30 U5739 8.8ZN 60 10 F01020540R
3 DISC REINFORCEMENT RING 570 1 R18127520R
4

UFO TZAR C

 DISC D.610 13000 1 R18127471R
5 BOLT M12X1,25X 40 U5740 10.9D 50 10 F01010070R
6 DISC REINFORCEMENT RING 400 1 R18127700R
7 HUB REINFORCEMENT RING 350 1 R18127701R

8 PRESTO - VELOCE
BOLT M12X1,25X20  U5740 8.8ZN 30 10 F01010279R

SKF AGRI HUB 2210 1 F06160015R
8A1

PRESTO

 DISC D. 460 CROWN 9 TEETH 4630 1 M65400208R
8A2  DISC D. 510 CROWN 9 TEETH 7650 1 M65400214R
8B1  DISC D. 460 CROWN SMOOTH 7180 1 M65400213R
8B2  DISC D. 510 CROWN SMOOTH 7700 1 M65400215R
8C1  DISC D. 460 CROWN 15 TEETH 5060 1 M65400217R
8C2 DISC D. 510 CROWN 15 TEETH 8100 1 M65400218R
8D  ROUNDED DISC 5760 1 M65400228R
8E

VELOCE
SPHERICAL DISC D. 510 9 TEETH 7725 1 M65700201R

8F DISC CROWN D. 510 15 TEETH 8175 1 M78400102R

8A1 - Ø 460 mm
8A2 - Ø 510 mm

DISC CROWN 9 
TEETH

8B1 - Ø 460 mm
8B2 - Ø 510 mm

DISCO CROWN 
SMOOTH

8C1 - Ø 460 mm
8C2 - Ø 510 mm

DISC CROWN 15 
TEETH

DISC CROWN 
WITH LOBES (only external 

elements)

8D

DISC CROWN 9 
TEETH

8E - Ø 510

DISC CROWN 15 
TEETH

8F - Ø 510



05-17 Cod. W00226539R
Maschio Gaspardo Market ing Dept.

MASCHIO GASPARDO S.p.A.
Headquarters and production plant

Via Marcello, 73
I-35011 Campodarsego (PADUA) - Italy

Tel. +39 049 9289810 – Fax +39 049 9289900
info@maschio.com - maschio.com

For graphic reasons, some pictures and images do not show the “EC” safety guards.  Technica l  data and models shown in th is cata logue are not b inding.  We reserve 
the r ight  to rev ise the contents of  th is cata logue, to amend or improve the speci f icat ions without not ice.


